CITY OF KE	NT			1		2		3		4	
84TH AVE.	S. IMPROVEMENTS (EAST VALLEY HIGHWAY))		R.W. Scott Cons	struction	Rodarte Constru	ction	DPK		Construct Comp	any
	NG: JUNE 30, 2009	BIDDER	'S	4005 West Valle	ey Highway #A	PO Box 1875		7829 S. 206th S	treet	1621 Pease Ave	_
		NAME A	ND	Auburn, Washin	gton 98001	Auburn, Washin	gton 98071-1875	Kent, Washingto	n 98032	Sumner, Washir	ngton 98380
		ADDRES	SS								
		ALT A	TOTAL:		\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.47
		ALT B	TOTAL:		\$3,773,054.43		\$3,780,570.60		\$4,682,786.25		\$4,514,971.47
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION QUA	ANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
School	dule I - STREET										
1000 Mobiliz		1	LS	\$385,200.00	\$385.200.00	\$255,000.00	\$255,000.00	\$331,000.00	\$331,000.00	\$183,000,00	\$183,000.00
1002 Field T		1	LS	\$12,500.00	\$12,500.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$13,200.00	\$13,200.00
	ng and Grubbing	1	LS	\$20,000.00	\$20,000.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$37,000.00	\$37,000.00
	val of Structure and Obstruction	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$20.00	\$20.00	\$3,500.00	\$3,500.00
	ve Existing Cement Concrete Pavement	15	SY	\$20.00	\$300.00	\$10.00	\$150.00	\$32.00	\$480.00	\$8.00	\$120.00
	ve Existing Tree >12" Diameter	23	EA	\$450.00	\$10,350.00	\$500.00	\$11,500.00	\$600.00	\$13,800.00	\$425.00	\$9,775.00
	ve Cement Concrete Sidewalk & Driveway Approac		SY	\$5.00	\$8,000.00	\$7.00	\$11,200.00	\$9.00	\$14,400.00	\$10.00	\$16,000.00
	ve Cement Concrete Curb and Gutter	4850	LF	\$3.00	\$14,550.00	\$5.00	\$24,250.00	\$7.00	\$33,950.00	\$7.00	\$33,950.00
	ve Cement Concrete Extruded Curb	700	LF	\$1.00	\$700.00	\$3.50	\$2,450.00	\$3.00	\$2,100.00	\$7.00	\$4,900.00
	val of Traffic Islands and/or Traffic Curb	1	LS	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00
1040 Remov		1	LS	\$5,700.00	\$5,700.00	\$1,000.00	\$1,000.00	\$5,600.00	\$5,600.00	\$5,900.00	\$5,900.00
	val of Thermoplastic Traffic Markings	1	LS	\$6,200.00	\$6,200.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
	val of Traffic Signs	1	LS	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$2,000.00	\$2,000.00	\$6,300.00	\$6,300.00
	ut Existing Cement Concrete Pavement	700	LF	\$5.00	\$3,500.00	\$4.00	\$2,800.00	\$6.00	\$4,200.00	\$7.50	\$5,250.00
	minated Soil Ex.,Transportation & Disposal	100	TON	\$85.00	\$8,500.00	\$75.00	\$7,500.00	\$120.00	\$12,000.00	\$71.00	\$7,100.00
	esting for Contamination	1	FA	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
	able Foundation Excavation & Haul	500	CY	\$15.00	\$7,500.00	\$20.00	\$10,000.00	\$22.00	\$11,000.00	\$33.00	\$16,500.00
	Borrow, Inc. Haul and Compaction	1200	TON	\$13.44	\$16,128.00	\$20.00	\$24,000.00	\$18.00	\$21,600.00	\$30.00	\$36,000.00
	or Preleveling Class 3/8", PG 64-22	800	TON	\$75.50	\$60,400.00	\$80.00	\$64,000.00	\$75.00	\$60,000.00	\$79.00	\$63,200.00
	lant Mix for Temporary Pavement Patch	500	TON	\$110.00	\$55,000.00	\$115.00	\$57,500.00	\$70.00	\$35,000.00	\$139.00	\$69,500.00
	ve and Relocate Existing Business Signs	1	LS	\$28,000.00	\$28,000.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$31,500.00	\$31,500.00
	nt Concrete D/W, 8 inch Depth, Reinforced	1520	SY	\$40.50	\$61,560.00	\$45.00	\$68,400.00	\$50.00	\$76,000.00	\$48.00	\$72,960.00
	nt Concrete Sidewalk	2740	SY	\$18.00	\$49,320.00	\$20.00	\$54,800.00	\$25.00	\$68,500.00	\$24.00	\$65,760.00
	nt Concrete Sidewalk Ramp WSDOT Type 1	2	EA	\$650.00	\$1,300.00	\$900.00	\$1,800.00	\$1,000.00	\$2,000.00	\$1,094.00	\$2,188.00
	nt Concrete Sidewalk w/Reinf. Raised Back	60	SY	\$59.00	\$3,540.00	\$80.00	\$4,800.00	\$250.00	\$15,000.00	\$328.00	\$19,680.00
	nt Concrete Sidewalk Ramp WSDOT Type 2	20	EA	\$600.00	\$12,000.00	\$900.00	\$18,000.00	\$1,000.00	\$20,000.00	\$1,094.00	\$21,880.00
	nt Conc. Sidewalk Ramp WSDOT Type 3A	1	EA	\$1,100.00	\$1,100.00	\$900.00	\$900.00	\$1,000.00	\$1,000.00	\$1,094.00	\$1,094.00
	nt Conc. Sidewalk Ramp WSDOT Type 4C	2	EA	\$1,030.00	\$2,060.00	\$900.00	\$1,800.00	\$1,000.00	\$2,000.00	\$1,094.00	\$2,188.00
	nt Conc. Sidewalk Ramp WSDOT Type 4B	7	EA	\$655.00	\$4,585.00	\$900.00	\$6,300.00	\$1,000.00	\$7,000.00	\$1,094.00	\$7,658.00
	nt Conc. Sidewalk Ramp WSDOT Type 4A	7	EA	\$600.00	\$4,200.00	\$900.00	\$6,300.00	\$2,200.00	\$15,400.00	\$1,094.00	\$7,658.00
	nt Concrete Curb and Gutter	, 5100		\$8.50	\$43,350.00	\$10.00	\$51,000.00	\$13.00	\$66,300.00	\$13.00	\$66,300.00
	nt Concrete Swale Gutter	165	LF	\$35.00	\$5,775.00		\$4,620.00	\$30.00	\$4,950.00	\$26.00	\$4,290.00
	nt Concrete Extruded Curb, Type 6	250	LF	\$9.00	\$2,250.00		\$2,500.00	\$8.00	\$2,000.00	\$8.00	\$2,000.00

CITY OF KENT			1		2		3		4	1
84TH AVE. S. IMPROVEMENTS (EAST VALLEY HIGHWAY)			R.W. Scott Cons	truction	Rodarte Constru	ıction	DPK		Construct Comp	any
BID OPENING: JUNE 30, 2009	BIDDER'S	3	4005 West Valle	y Highway #A	PO Box 1875		7829 S. 206th St	treet	1621 Pease Ave	nue
	NAME AN	ID	Auburn, Washing	gton 98001	Auburn, Washin	gton 98071-1875	Kent, Washington	n 98032	Sumner, Washir	ngton 98380
	ADDRESS	5								
	ALT A TO	OTAL:		\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.47
	ALT B TO	OTAL:		\$3,773,054.43		\$3,780,570.60		\$4,682,786.25		\$4,514,971.47
ITEM				TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION QUANTIT	ΓΥ	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1215 Adjust Ex. Fire Vault to Finished Grade	1	EA	\$1,800.00	\$1,800.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$811.00	\$811.00
1220 Adjust Ex. CB Grate or Curb Inlet Grate to Finished Grade	20	EA	\$300.00	\$6,000.00	\$225.00	\$4,500.00	\$450.00	\$9,000.00	\$685.00	\$13,700.00
1225 Adjust Ex. MH Cover to Finished Grade	39	EA	\$300.00	\$11,700.00	\$225.00	\$8,775.00	\$450.00	\$17,550.00	\$811.00	\$31,629.00
1230 Adjust Ex. Valve Box Top Section & Lid to Finished Grade	5	EA	\$250.00	\$1,250.00	\$150.00	\$750.00	\$400.00	\$2,000.00	\$208.00	\$1,040.00
1235 Adjust Ex. Meter Box to Finished Grade	4	EA	\$150.00	\$600.00	\$150.00	\$600.00	\$300.00	\$1,200.00	\$208.00	\$832.00
1242 Adjust Ex. Junction Box to Finished Grade (S. 212th)	3	EA	\$200.00	\$600.00	\$200.00	\$600.00	\$300.00	\$900.00	\$184.00	\$552.00
1245 Adjust Ex. Monument, Case & Cover to Finished Grade	2	EA	\$250.00	\$500.00	\$225.00	\$450.00	\$500.00	\$1,000.00	\$473.00	\$946.00
1250 Adjust Ex. Oil/Water Separator Cover to Finished Grade	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$208.00	\$208.00
1252 Adjust Ex. Monitoring Well Lid	5	EA	\$300.00	\$1,500.00	\$225.00	\$1,125.00	\$400.00	\$2,000.00	\$6.00	\$30.00
1255 Remove Fence	135	LF	\$5.00	\$675.00	\$10.00	\$1,350.00	\$9.00	\$1,215.00	\$6.00	\$810.00
1260 Remove and Relocate Fence	400	LF	\$9.80	\$3,920.00	\$6.50	\$2,600.00	\$10.00	\$4,000.00	\$13.00	\$5,200.00
1265 Remove and Restore Fence	55	LF	\$18.90	\$1,039.50	\$20.00	\$1,100.00	\$22.00	\$1,210.00	\$17.00	\$935.00
1275 Install New 4' Chain Link Fence, Including Gate	70	LF	\$25.37	\$1,775.90	\$35.00	\$2,450.00	\$40.00	\$2,800.00	\$26.00	\$1,820.00
1280 Install New 6' Chain Link Fence, Including Gate	570	LF	\$23.31	\$13,286.70	\$18.00	\$10,260.00	\$22.00	\$12,540.00	\$25.00	\$14,250.00
1285 Mailbox Support, Type 1	15	EA	\$250.00	\$3,750.00	\$250.00	\$3,750.00	\$300.00	\$4,500.00	\$152.00	\$2,280.00
1295 High Early Strength Cl. 3000 Concrete	40	CY	\$250.00	\$10,000.00	\$160.00	\$6,400.00	\$160.00	\$6,400.00	\$249.00	\$9,960.00
1300 Remove and Relocate Private Light Poles	3	EA	\$1,200.00	\$3,600.00	\$1,200.00	\$3,600.00	\$2,000.00	\$6,000.00	\$1,300.00	\$3,900.00
1302 Gravity Block Retaining Wall (Keystone or Approved =)	2280	SF	\$20.00	\$45,600.00	\$24.00	\$54,720.00	\$25.00	\$57,000.00	\$18.00	\$41,040.00
1305 Sound Barrier, 8' Height w/Foundation, Complete	155	LF	\$160.00	\$24,800.00	\$150.00	\$23,250.00	\$220.00	\$34,100.00	\$15.00	\$2,325.00
1310 Berm Wall, (Kelley Block or Approved Equal)	1330	SF	\$19.00	\$25,270.00	\$17.00	\$22,610.00	\$23.00	\$30,590.00	\$15.00	\$19,950.00
1315 Pothole Utilities	50	EA	\$250.00	\$12,500.00	\$250.00	\$12,500.00	\$300.00	\$15,000.00	\$144.00	\$7,200.00
1320 Project Sign	2	EA	\$600.00	\$1,200.00	\$400.00	\$800.00	\$800.00	\$1,600.00	\$680.00	\$1,360.00
1330 Controlled Density Fill	150	CY	\$89.00	\$13,350.00	\$120.00	\$18,000.00	\$75.00	\$11,250.00	\$96.00	\$14,400.00
1335 Controlled Density Fill for Utility Encasement	100	CY	\$100.00	\$10,000.00	\$125.00	\$12,500.00	\$75.00	\$7,500.00	\$96.00	\$9,600.00
1355 Minor Changes	1	FA	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
TOTAL SCHEDULE I - Street				\$1,048,285.10		\$978,010.00		\$1,150,655.00		\$1,020,629.00
Schedule II - WATER										
2005 8" Connection to Ex. 16" Conc. Cyclinder Water Main	3	EA	\$5,830.00	\$17,490.00	\$6,000.00	\$18,000.00	\$25,000.00	\$75,000.00	\$5,600.00	\$16,800.00
2010 2" Connection to Ex. 16" Conc. Cyclinder Water Main	24	EA	\$3,000.00	\$72,000.00	\$2,000.00	\$48,000.00	\$6,000.00	\$144,000.00	\$1,800.00	\$43,200.00
2020 6 Inch Dia. Ductile Iron, Cl 52 Water Main Pipe	204	LF	\$40.00	\$8,160.00	\$40.00	\$8,160.00	\$75.00	\$15,300.00	\$102.00	\$20,808.00
2025 8 Inch Dia. Ductile Iron, Cl 52 Water Main Pipe	130	LF	\$90.00	\$11,700.00	\$45.00	\$5,850.00	\$100.00	\$13,000.00	\$124.00	\$16,120.00
2060 Replace Ex. Valve Box Top Section and Lid	28	EA	\$300.00	\$8,400.00	\$175.00	\$4,900.00	\$300.00	\$8,400.00	\$207.00	\$5,796.00
2080 Hydrant Assembly	6	EA	\$4,850.00	\$29,100.00	\$4,000.00	\$24,000.00	\$7,500.00	\$45,000.00	\$8,000.00	\$48,000.00

CITY OF KEN	JT			1		2		3		4	
	. IMPROVEMENTS (EAST VALLEY HIGHV	WAY)		R.W. Scott Cons	struction	Rodarte Constru	ction	DPK		Construct Comp	any
	IG: JUNE 30, 2009	BIDDER	r'S	4005 West Valle		PO Box 1875		7829 S. 206th S	treet	1621 Pease Ave	=
		NAME A	ND	Auburn, Washin	igton 98001	Auburn, Washing	gton 98071-1875	Kent, Washingto	n 98032	Sumner, Washi	ngton 98380
		ADDRE:	SS		_		_				
		ALT A	TOTAL:		\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.47
		ALT B	TOTAL:		\$3,773,054.43		\$3,780,570.60		\$4,682,786.25		\$4,514,971.47
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2085 6 inch B	Blowoff Assembly	4	EA	\$3,200.00	\$12,800.00	\$2,500.00	\$10,000.00	\$3,000.00	\$12,000.00	\$3,100.00	\$12,400.00
	n Existing Water Service	3	EA	\$500.00	\$1,500.00	\$200.00	\$600.00	\$500.00	\$1,500.00	\$207.00	\$621.00
2115 Service	Connection 1 Inch Diameter	24	EA	\$750.00	\$18,000.00	\$650.00	\$15,600.00	\$2,300.00	\$55,200.00	\$669.69	\$16,072.56
2125 Service	Connection 2 Inch Diameter	2	EA	\$2,250.00	\$4,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00	\$1,705.80	\$3,411.60
2145 Water S	Service Line 1 inch Diameter	1195	LF	\$25.00	\$29,875.00	\$12.00	\$14,340.00	\$1.00	\$1,195.00	\$3.00	\$3,585.00
2150 Water S	Service Line 1-1/2 inch Diameter	70	LF	\$35.00	\$2,450.00	\$25.00	\$1,750.00	\$60.00	\$4,200.00	\$4.00	\$280.00
2245 Relocati	ing Water Meter Assembly	2	EA	\$550.00	\$1,100.00	\$300.00	\$600.00	\$1,200.00	\$2,400.00	\$614.00	\$1,228.00
2255 Shoring	or Extra Excavation Class B	1000	SF	\$1.00	\$1,000.00	\$0.10	\$100.00	\$1.00	\$1,000.00	\$6.00	\$6,000.00
2260 Foundat	tion Material, Classs I and II for Water Main	25	TON	\$22.00	\$550.00	\$25.00	\$625.00	\$40.00	\$1,000.00	\$23.00	\$575.00
2275 Pipe Zor	ne Bedding for Water Main	20	TON	\$22.00	\$440.00	\$18.00	\$360.00	\$18.00	\$360.00	\$21.00	\$420.00
2280* Crushed	d Surfacing Top Course, 5/8 Inch Minus	20	TON	\$14.50	\$290.00	\$18.00	\$360.00	\$22.00	\$440.00	\$22.00	\$440.00
2285 Bank Ru	un Gravel for Trench Backfill for Water Main	25	TON	\$22.00	\$550.00	\$25.00	\$625.00	\$9.00	\$225.00	\$12.50	\$312.50
2295 Cold Pla	ant Mix for Temporary Pavement Patch	30	TON	\$110.00	\$3,300.00	\$110.00	\$3,300.00	\$70.00	\$2,100.00	\$132.00	\$3,960.00
SUB TO)TAL				\$223,205.00		\$162,170.00		\$392,320.00		\$200,029.66
9.5% w	a State Sales Tax				\$21,204.48		\$15,406.15		\$37,270.40		\$19,002.82
TOTAL	SCHEDULE II - Water				\$244,409.48		\$177,576.15		\$429,590.40		\$219,032.48
Cabada	de III. CEWED										
	ule III - SEWER	240	1.5	¢04.00	¢20.240.00	\$50.00	¢10,000,00	¢150.00	¢E4 000 00	\$114.00	¢41 040 00
	wer Pipe, 8 inch Diameter	360 155	LF LF	\$84.00	\$30,240.00	· ·	\$18,000.00	\$150.00	\$54,000.00	*	\$41,040.00
	ewer Pipe, 6 inch Diameter	3	EA	\$60.00 \$3,200.00	\$9,300.00 \$9,600.00	\$35.00 \$2,600.00	\$5,425.00 \$7,800.00	\$100.00 \$7,500.00	\$15,500.00 \$22,500.00	\$67.00 \$2,200.00	\$10,385.00 \$6,600.00
	e Under 12 Feet, Type 1 - 48 inch Dia.	3	EA EA	\$3,200.00	\$4,000.00	\$2,600.00		\$7,500.00		\$2,200.00	\$1,100.00
	e 12 Feet to 20 Feet, Type 1 - 48 inch Dia. Manhole Frame and Cover	I 1	EA EA	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00 \$800.00	\$25,000.00	\$25,000.00 \$2,000.00	\$1,100.00	\$1,160.00
_	Drop Connection, 8 Inch Diameter	20	VF	\$350.00	\$1,400.00	\$200.00	\$4,000.00	\$500.00	\$10,000.00	\$290.00	\$34,000.00
	Cleanout - 6 Inch	20 7	EA	\$750.00	\$5,000.00	\$75.00	\$525.00	\$700.00	\$4,900.00	\$201.00	\$1,407.00
	e Ex. Sanitary Sewer Cleanout	1	EA	\$300.00	\$3,230.00	\$100.00	\$100.00	\$500.00	\$500.00	\$70.00	\$70.00
	or Extra Excavation, Class B	3000		\$1.00	\$3,000.00	\$0.05	\$150.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
•	tion Material, Class I and II	140	TON	\$22.00	\$3,080.00	\$25.00	\$3,500.00	\$23.00	\$3,220.00	\$24.00	\$3,360.00
3135 Pipe Zor		320	TON	\$12.00	\$3,840.00	\$18.00	\$5,760.00	\$18.00	\$5,760.00	\$21.00	\$6,720.00
•	un Gravel for Trench Backfill	250	TON	\$16.00	\$4,000.00	\$25.00	\$6,250.00	\$9.00	\$2,250.00	\$12.50	\$3,125.00
SUB TO		250	ION	φ10.00	\$79,010.00	Ψ23.00	\$55,310.00	ψ7.00	\$148,630.00	Ψ12.30	\$111,967.00
	VA State Sales Tax				\$7,505.95		\$5,254.45		\$14,119.85		\$10,636.87
	SCHEDULE III - Sewer				\$86,515.95		\$60,564.45		\$162,749.85		\$122,603.87

CITY OF KENT 84TH AVE. S. IMPROVEMENTS (EAST VALLEY	HIGHWAY)		R.W. Scott Cons	truction	2 Rodarte Constru	ction	DPK		Construct Comp	anv
BID OPENING: JUNE 30, 2009	BIDDER'S	;	4005 West Valle		PO Box 1875	GUOTI	7829 S. 206th S	treet	1621 Pease Ave	,
212 01 2.1.110. 30112 30, 2007	NAME AN		Auburn, Washing			gton 98071-1875	Kent, Washingto		Sumner, Washir	
	ADDRESS		raza, rraz	g.c 7000.	, rabarri, rrabining	gto /00/. 10/0	Treini, Traeimigre	70002	Currier, reasons	.gto 70000
	ALT A TO			\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.4
	ALT B TO	TAL:		\$3,773,054.43		\$3,780,570.60		\$4,682,786.25		\$4,514,971.4
ITEM				TOTAL		TOTAL		TOTAL		TOT
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOU
Schedule IV - STORM										
4005 Storm Sewer Pipe, 6 Inch Diameter	6	LF	\$60.00	\$360.00	\$125.00	\$750.00	\$225.00	\$1,350.00	\$67.00	\$402.0
4010 Storm Sewer Pipe, 8 Inch Diameter	50	LF	\$50.00	\$2,500.00	\$65.00	\$3,250.00	\$225.00	\$11,250.00	\$68.00	\$3,400.0
4015 Storm Sewer Pipe, 12 Inch Diameter	820	LF	\$50.00	\$41,000.00	\$45.00	\$36,900.00	\$90.00	\$73,800.00	\$70.00	\$57,400.0
4075 Concrete Inlet	2	EA	\$600.00	\$1,200.00	\$600.00	\$1,200.00	\$900.00	\$1,800.00	\$812.00	\$1,624.0
4080 Catch Basin, Type 1	22	EA	\$750.00	\$16,500.00	\$700.00	\$15,400.00	\$1,200.00	\$26,400.00	\$950.00	\$20,900.0
4085 Storm Drain Catch Basin, Type 2 - 48 inch D	iam. 6	EA	\$3,200.00	\$19,200.00	\$2,000.00	\$12,000.00	\$2,000.00	\$12,000.00	\$2,200.00	\$13,200.0
4090 Storm Drain Catch Basin, Type 2 - 54 inch D	iam. 2	EA	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00	\$3,100.00	\$6,200.
4095 Oil-Water Separator Vault	1	EA	\$9,000.00	\$9,000.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.0
4100 Storm Drain Catch Basin - Type 2-96" w/Pur	mps & Telemetry 1	LS	\$111,130.00	\$111,130.00	\$50,000.00	\$50,000.00	\$177,000.00	\$177,000.00	\$198,000.00	\$198,000.
4110 Solid Round Locking Catch Basin Frame and	Cover 48	EA	\$400.00	\$19,200.00	\$200.00	\$9,600.00	\$450.00	\$21,600.00	\$303.00	\$14,544.
4120 Vaned Catch Basin Frame and Grate	11	EA	\$400.00	\$4,400.00	\$200.00	\$2,200.00	\$400.00	\$4,400.00	\$303.00	\$3,333.
4125 Thru-Curb Inlet Frame and Grate	17	EA	\$400.00	\$6,800.00	\$200.00	\$3,400.00	\$500.00	\$8,500.00	\$1,400.00	\$23,800.
4130 Abandon Existing Storm Sewer Pipe	4	EA	\$250.00	\$1,000.00	\$350.00	\$1,400.00	\$600.00	\$2,400.00	\$180.00	\$720.
4145 Remove Existing Catch Basin or Manhole	13	EA	\$450.00	\$5,850.00	\$150.00	\$1,950.00	\$450.00	\$5,850.00	\$278.00	\$3,614.
4150 Shoring or Extra Excavation, Class B	500	SF	\$3.50	\$1,750.00	\$0.05	\$25.00	\$1.00	\$500.00	\$2.00	\$1,000.
4155 Foundation Material, Class I and II	45	TON	\$22.00	\$990.00	\$25.00	\$1,125.00	\$23.00	\$1,035.00	\$25.00	\$1,125.0
4165 Quarry Spalls 4" - 8"	120	TON	\$18.00	\$2,160.00	\$25.00	\$3,000.00	\$34.00	\$4,080.00	\$21.00	\$2,520.
4170 Pipe Zone Bedding	100	TON	\$12.00	\$1,200.00	\$18.00	\$1,800.00	\$18.00	\$1,800.00	\$30.00	\$3,000.0
4175* Crushed Surfacing Top Course, 5/8 inch Min	us 180	TON	\$14.50	\$2,610.00	\$18.00	\$3,240.00	\$22.00	\$3,960.00	\$22.00	\$3,960.0
4180 Bank Run Gravel for Trench Backfill	220	TON	\$19.00	\$4,180.00	\$25.00	\$5,500.00	\$9.00	\$1,980.00	\$12.50	\$2,750.0
4185 Stormwater Pond Excavation Including Haul	3000	CY	\$10.00	\$30,000.00	\$9.00	\$27,000.00	\$18.00	\$54,000.00	\$35.00	\$105,000.0
4210 Thermoplastic Storm Drain Stenciling	55	EA	\$50.00	\$2,750.00	\$50.00	\$2,750.00	\$41.00	\$2,255.00	\$61.00	\$3,355.0
Total SCHEDULE IV - Storm				\$293,780.00		\$200,490.00		\$452,960.00		\$487,847.0
Schedule V - TRAFFIC										
5005 Traffic Control Labor	2080	HR	\$42.00	\$87,360.00	\$42.00	\$87,360.00	\$39.00	\$81,120.00	\$39.00	\$81,120.
5010 Construction Signs Class A	192	SF	\$18.00	\$3,456.00	\$15.00	\$2,880.00	\$13.00	\$2,496.00	\$9.00	\$1,728.
5015 Traffic Control Supervisor	1000	HR	\$10.00	\$10,000.00	\$42.00	\$42,000.00	\$42.00	\$42,000.00	\$45.00	\$45,000.0
5020 Temporary Traffic Control Devices	1	LS	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.0
5030 Portable Changeable Message Sign (PCMS)	170	DAY	\$60.00	\$10,200.00	\$60.00	\$10,200.00	\$177.00	\$30,090.00	\$100.00	\$17,000.
5035 Sequential Arrow Sign (SAS)	330	DAY	\$20.00	\$6,600.00	\$20.00	\$6,600.00	\$20.00	\$6,600.00	\$10.00	\$3,300.
5040 Traffic Safety Drum	100	EA	\$70.00	\$7,000.00	\$25.00	\$2,500.00	\$10.00	\$1,000.00	\$550.00	\$55,000.

CITY OF KENT	/A)/		7		2		3		4	
B4TH AVE. S. IMPROVEMENTS (EAST VALLEY HIGHW			R.W. Scott Cons		Rodarte Constru	iction	DPK	· tun n t	Construct Comp	,
BID OPENING: JUNE 30, 2009	BIDDER'S NAME AN		4005 West Valle		PO Box 1875	aton 00071 107E	7829 S. 206th S		1621 Pease Ave	
	ADDRESS		Auburn, Washin	gton 98001	Auburn, wasnin	gton 98071-1875	Kent, Washingto	011 98032	Sumner, Washir	Igt011 98380
	ALT A TO			\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.4
	ALT B TO			\$3,773,054.43		\$3,780,570.60		\$4,682,786.25		\$4,514,971.4
TEM	ALIDIO	/ I A L .		TOTAL		TOTAL		TOTAL		TOT
	QUANTITY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOU
22301	207	0.1	0	7		7	0	7		7
5075 Permanent Channelization	1	LS	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$20,280.00	\$20,280.00	\$21,300.00	\$21,300.0
5080 Temporary Paint Pavement Marking	10000	LF	\$0.40	\$4,000.00	\$0.25	\$2,500.00	\$0.55	\$5,500.00	\$0.60	\$6,000.0
5100 Parking Lot Restriping	1100	LF	\$0.50	\$550.00	\$0.25	\$275.00	\$2.75	\$3,025.00	\$3.00	\$3,300.0
5135 Permanent Signing	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$3,800.00	\$3,800.00	\$4,000.00	\$4,000.0
TOTAL SCHEDULE V - Traffic				\$179,166.00		\$187,315.00		\$200,911.00		\$238,748.0
Schedule VI - ELECTRICAL										
6000 Traffic Signal at S. 216th Street	1	LS	\$155,000.00	\$155,000.00	\$180,000.00	\$180,000.00	\$175,000.00	\$175,000.00	\$179,333.78	\$179,333.
6001 Traffic Signal at S. 220th Street	1	LS	\$105,000.00	\$105,000.00	\$130,000.00	\$130,000.00	\$125,000.00	\$125,000.00	\$126,588.55	\$126,588.
6002 Traffic Signal at S. 224th Street	1	LS	\$180,000.00	\$180,000.00	\$200,000.00	\$200,000.00	\$190,000.00	\$190,000.00	\$194,629.90	\$194,629.9
6003 Trafffic Loop Replacement at S. 212th and SR 167	1	LS	\$55,000.00	\$55,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$58,019.75	\$58,019.
6005 Illumination System	1	LS	\$148,000.00	\$148,000.00	\$170,000.00	\$170,000.00	\$160,000.00	\$160,000.00	\$160,345.50	\$160,345.
6010 Shallow Illumination Base - If Needed	5	EA	\$1,000.00	\$5,000.00	\$500.00	\$2,500.00	\$750.00	\$3,750.00	\$791.18	\$3,955.9
6015 Joint Utility Trench Excavation 12 Inch Wide	760	LF	\$23.00	\$17,480.00	\$10.00	\$7,600.00	\$15.00	\$11,400.00	\$55.59	\$42,248.4
6021 Sand for Conduit Bedding	45	TONS	\$14.00	\$630.00	\$30.00	\$1,350.00	\$30.00	\$1,350.00	\$27.63	\$1,243.3
TOTAL SCHEDULE VI - Electrical				\$666,110.00		\$751,450.00		\$726,500.00		\$766,365.1
Schedule VII - TESCP										
7000 Seeding, Fertilizing, and Multching	0.5	AC	\$3,000.00	\$1,500.00	\$2,500.00	\$1,250.00	\$2,500.00	\$1,250.00	\$3,700.00	\$1,850.0
7005 Filter Fabric Fence	310	LF	\$7.00	\$2,170.00	\$4.00	\$1,240.00	\$6.00	\$1,860.00	\$5.00	\$1,550.0
7010 10' Straw Wattles for Drainage Way Barrier	10	EA	\$40.00	\$400.00	\$55.00	\$550.00	\$85.00	\$850.00	\$2.00	\$20.0
7015 Inlet Protection	48	EA	\$65.00	\$3,120.00	\$50.00	\$2,400.00	\$80.00	\$3,840.00	\$49.00	\$2,352.0
7020 Straw Mulch	250	SY	\$1.50	\$375.00	\$1.50	\$375.00	\$5.00	\$1,250.00	\$3.00	\$750.0
7025 Clear Plastic Covering	2000	SY	\$1.50	\$3,000.00	\$1.25	\$2,500.00	\$2.00	\$4,000.00	\$0.15	\$300.0
7030 ESC Lead	330	DAY	\$25.00	\$8,250.00	\$35.00	\$11,550.00	\$60.00	\$19,800.00	\$44.00	\$14,520.0
7035 Street Cleaning	300	HR	\$120.00	\$36,000.00	\$125.00	\$37,500.00	\$105.00	\$31,500.00	\$115.00	\$34,500.0
7045 Sod Installation	100	SY	\$5.00	\$500.00	\$6.00	\$600.00	\$9.00	\$900.00	\$6.00	\$600.0
7050 Spill Prevention Control and Countermeasure Plan	1	LS	\$700.00	\$700.00	\$300.00	\$300.00	\$500.00	\$500.00	\$519.00	\$519.0
7055 Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.0
7060 Stormwater Tanker Truck	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.0
7065 Baker Sand Filtration System	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.0
TOTAL SCHEDULE VII - TESCP			1	\$96,015.00		\$98,265.00		\$105,750.00		\$96,961.0

CITY OF KENT			1		2		3		4	
4TH AVE. S. IMPROVEMENTS (EAST VALLEY HIGHWA	•		R.W. Scott Const		Rodarte Constru	ction	DPK		Construct Comp	, ,
BID OPENING: JUNE 30, 2009	BIDDER'S		4005 West Valley	- 5 - 5	PO Box 1875		7829 S. 206th St		1621 Pease Ave	
	NAME ANI		Auburn, Washing	gton 98001	Auburn, Washing	gton 98071-1875	Kent, Washington	n 98032	Sumner, Washir	ngton 98380
	ADDRESS									
	ALT A TO			\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.4
	ALT B TO	JTAL:		\$3,773,054.43	+	\$3,780,570.60		\$4,682,786.25	<u> </u>	\$4,514,971.4
TEM				TOTAL		TOTAL	_	TOTAL	=	ТОТ
NO. DESCRIPTION QU	DUANTITY	UNIT	UNIT PRICE	AMOUNT	T UNIT PRICE	AMOUNT	T UNIT PRICE	AMOUNT	UNIT PRICE	AMOU
Schedule VIII - ROADSIDE RESTORATION										
8000 Street Tree Planting and Staking	24	EA	\$460.00	\$11,040.00	\$450.00	\$10,800.00	\$320.00	\$7,680.00	\$1,200.00	\$28,800.0
8001 Tree Planting and Staking for Property Restoration	17	EA	\$345.00	\$5,865.00	\$350.00	\$5,950.00	\$320.00	\$5,440.00	\$1,300.00	\$22,100.0
8005 Topsoil Type A	100	CY	\$30.00	\$3,000.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$42.00	\$4,200.0
8010 Existing Irrigation System Removal and Modif.	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.0
8015 Bark or Wood Chip Mulch	100	CY	\$30.00	\$3,000.00	\$40.00	\$4,000.00	\$45.00	\$4,500.00	\$55.00	\$5,500.0
8020 5-Gallon Shrub Planting	15	EA	\$30.00	\$450.00	\$30.00	\$450.00	\$50.00	\$750.00	\$37.00	\$555.0
TOTAL SCHEDULE VIII - Roadside Restoration				\$28,355.00		\$30,200.00		\$28,370.00		\$66,155.0
SCHEDULE IX - ERNIE'S FUEL STOP										
9000 Improvements Adjacent to Ernie's Fuel Stop	1	LS	\$84,820.00	\$84,820.00	\$110,000.00	\$110,000.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.0
9.5% WA State Sales Tax				\$8,057.90		\$10,450.00		\$19,000.00		\$23,750.
TOTAL SCHEDULE IX - Ernie's Fuel Stop				\$92,877.90		\$120,450.00		\$219,000.00		\$273,750.0
Schedule X - ALTERNATE A: ASPHALT ROADWAY	4									
1000 Mobilization	1	LS	\$5,000.00	\$5,000.00	\$90,000.00	\$90,000.00	\$4,000.00	\$4,000.00	\$80,000.00	\$80,000.
1010 Remove Existing Asphalt Conc. Pavement	6025	SY	\$3.50	\$21,087.50	\$8.00	\$48,200.00	\$2.00	\$12,050.00	\$8.00	\$48,200.
1050 Saw Cut Ex. Asphalt Concrete Pavement	7500	LF	\$2.50	\$18,750.00	\$2.00	\$15,000.00	\$2.00	\$15,000.00	\$2.00	\$15,000.
1060 Roadway Excavation Including Haul	5300	CY	\$12.90	\$68,370.00	\$16.00	\$84,800.00	\$8.00	\$42,400.00	\$25.00	\$132,500.0
1070 Geotextile Fabric, Tensar BX1200 Biaxial or Equal	8000	SY	\$5.00	\$40,000.00	\$1.50	\$12,000.00	\$1.00	\$8,000.00	\$10.00	\$80,000.
1075 Gravel Borrow, Including Haul & Compaction	3400	TON	\$13.44	\$45,696.00	\$16.00	\$54,400.00	\$18.00	\$61,200.00	\$22.00	\$74,800.
1080* Crushed Surfacing Top Course, 5/8 inch Minus	1500	TON	\$14.50	\$21,750.00	\$18.00	\$27,000.00	\$22.00	\$33,000.00	\$22.00	\$33,000.
1085* Crushed Surfacing Base Course, 1 1/4inch Minus	900	TON	\$14.50	\$13,050.00	\$18.00	\$16,200.00	\$29.00	\$26,100.00	\$21.00	\$18,900.
1095 HMA Class 3/4", PG 64-22	1300	TON	\$111.00	\$144,300.00	\$110.00	\$143,000.00	\$130.00	\$169,000.00	\$114.00	\$148,200.
1100 HMA Class 1/2", PG 64-22 for Full Width Overlay	5800	TON	\$69.00	\$400,200.00	\$70.00	\$406,000.00	\$75.00	\$435,000.00	\$71.00	\$411,800.
1110 Planing Bituminous Pavement	4500	SY	\$3.00	\$13,500.00	\$7.00	\$31,500.00	\$6.00	\$27,000.00	\$7.00	\$31,500
1115 Fabric Reinforcement, Petromat or Equal	40000	SY	\$1.73	\$69,200.00	\$2.00	\$80,000.00	\$2.00	\$80,000.00	\$2.00	\$80,000
Alternate A Sub Total				\$860,903.50		\$1,008,100.00		\$912,750.00		\$1,153,900.

CITY OF KENT			1		2		3		4	
84TH AVE. S. IMPROVEMENTS (EAST VALLEY HIC	GHWAY)		R.W. Scott Cons	struction	Rodarte Constru	uction	DPK		Construct Comp	pany
BID OPENING: JUNE 30, 2009	BIDDEI	R'S	4005 West Valle	ey Highway #A	PO Box 1875		7829 S. 206th S	Street	1621 Pease Ave	nue
	NAME A	AND	Auburn, Washin	ngton 98001	Auburn, Washir	ngton 98071-1875	Kent, Washingto	on 98032	Sumner, Washir	ngton 98380
	ADDRE	SS								
	ALT A	TOTAL:		\$3,596,417.93		\$3,612,420.60		\$4,389,236.25		\$4,445,991.47
	ALT B	TOTAL:		\$3,773,054.43		\$3,780,570.60		\$4,682,786.25		\$4,514,971.47
ITEM				TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Schedule XI - ALTERNATE B: CONCRETE RO	DADWAY (Curb Land	-	ΦE 000 00	#F 000 00	¢00,000,00	#00.000.00	#20 000 00	#20.000.00	#74 000 00	ф7.4.000.00
1000 Mobilization	1	EA	\$5,000.00	\$5,000.00	\$80,000.00	\$80,000.00	\$28,000.00	\$28,000.00	\$74,000.00	\$74,000.00
1010 Remove Existing Asphalt Conc. Pavement	6100		\$4.00	\$24,400.00	\$8.00	\$48,800.00	\$2.00	\$12,200.00	\$8.00	\$48,800.00
1050 Saw Cut Ex. Asphalt Concrete Pavement	8600		\$3.50	\$30,100.00	\$2.00	\$17,200.00	\$2.00	\$17,200.00	\$1.50	\$12,900.00
1060 Roadway Excavation Including Haul	4300		\$12.90	\$55,470.00	\$16.00	\$68,800.00	\$8.00	\$34,400.00	\$24.00	\$103,200.00
1066 Cement Concrete Pavement (Including Dowels)			\$204.00	\$510,000.00	\$200.00	\$500,000.00	\$250.00	\$625,000.00	\$210.00	\$525,000.00
1070 Geotextile Fabric, Tensar BX1200 Biaxial or Equ			\$5.00	\$1,250.00	\$3.00	\$750.00	\$1.00	\$250.00	\$2.00	\$500.00
1085* Crushed Surfacing Base Course, 1 1/4inch Minus			\$14.50	\$40,600.00	\$18.00	\$50,400.00	\$29.00	\$81,200.00	\$21.00	\$58,800.00
1095 HMA Class 3/4", PG 64-22	70	TON	\$135.00	\$9,450.00	\$145.00	\$10,150.00	\$130.00	\$9,100.00	\$134.00	\$9,380.00
1100 HMA Class 1/2", PG 64-22 for Full Width Overlag			\$69.00	\$296,700.00	\$75.00	\$322,500.00	\$75.00	\$322,500.00	\$71.00	\$305,300.00
1110 Planing Bituminous Pavement	1200		\$4.50	\$5,400.00	\$7.00	\$8,400.00	\$6.00	\$7,200.00	\$6.00	\$7,200.00
1115 Fabric Reinforcement - Petromat or Equal	2900		\$1.73	\$50,170.00	\$2.00	\$58,000.00	\$2.00	\$58,000.00	\$2.00	\$58,000.00
4140 Temporary Drainage Pipe for Concrete Paving	450	LF	\$20.00	\$9,000.00	\$25.00	\$11,250.00	\$25.00	\$11,250.00	\$44.00	\$19,800.00
Alternate 2 Sub Total				\$1,037,540.00		\$1,176,250.00		\$1,206,300.00		\$1,222,880.00
SUMMARY										
Schedule I - Street				\$1,048,285.10)	\$978,010.00		\$1,150,655.00		\$1,020,629.00
Schedule II - Water (9.5% Sales Tax)				\$244,409.48		\$177,576.15		\$429,590.40		\$219,032.48
Schedule III - Sanitary (9.5% Sales Tax)				\$86,515.95		\$60,564.45		\$162,749.85		\$122,603.87
Schedule IV - Storm				\$293,780.00)	\$200,490.00		\$452,960.00		\$487,847.00
Schedule V - Traffic				\$179,166.00		\$187,315.00		\$200,911.00		\$238,748.00
Schedule VI - Electrical				\$666,110.00		\$751,450.00		\$726,500.00		\$766,365.13
Schedule VII - TESCP				\$96,015.00		\$98,265.00		\$105,750.00		\$96,961.00
Schedule VIII - Roadside Restoration				\$28,355.00		\$30,200.00		\$28,370.00		\$66,155.00
Schedule IX - Construction Adjacent to Ern	ie's Fuel			\$92,877.90		\$120,450.00		\$219,000.00		\$273,750.00
TOTAL				\$2,735,514.43		\$2,604,320.60		\$3,476,486.25		\$3,292,091.47
								· · · · · · · · · · · · · · · · · · ·		
Schedule X - Alternate A - Asphalt Roadway	•			\$860,903.50		\$1,008,100.00		\$912,750.00		\$1,153,900.00
Schedule XI - Alternate B - Concrete Roadv	way (curb lane)			\$1,037,540.00		\$1,176,250.00		\$1,206,300.00		\$1,222,880.00
					1		1		1	

CITY OF KENT				5			
84TH AVE. S. IMPRO\	/EMENTS (EAST VALLEY HIGHWAY)			Tri-State Construc	tion, Inc		
BID OPENING: JUNE	30, 2009	BIDDER'S	S	P.O. BOX 3686		Nick Horn	
		NAME AN	ID	Bellevue, Washing	ton 98009	Engineer	
		ADDRES:	S				
		ALT A TO	OTAL:		\$5,011,978.45		\$3,439,371.0
		ALT B TO	OTAL:		\$5,232,340.95		\$3,600,000.0
ITEM					TOTAL		ТОТ
NO. DES	CRIPTION QUANTIT	Υ	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOU
Schedule I - ST	REET						
1000 Mobilization		1	LS	\$500,000.00	\$500,000.00	\$113,355.43	\$113,355.
1002 Field Trailer		1	LS	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.
1005 Clearing and Grul	bbing	1	LS	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.
1006 Removal of Struc	5	1	LS	\$50,000.00	\$50,000.00	\$2,000.00	\$2,000.
1015 Remove Existing	Cement Concrete Pavement	15	SY	\$12.00	\$180.00	\$12.00	\$180.
1018 Remove Existing		23	EA	\$320.00	\$7,360.00	\$250.00	\$5,750.
	Concrete Sidewalk & Driveway Approaches	1600	SY	\$4.50	\$7,200.00	\$15.00	\$24,000.
1025 Remove Cement	Concrete Curb and Gutter	4850	LF	\$3.00	\$14,550.00	\$10.00	\$48,500.
1030 Remove Cement	Concrete Extruded Curb	700	LF	\$2.25	\$1,575.00	\$2.00	\$1,400
1035 Removal of Traffi	c Islands and/or Traffic Curb	1	LS	\$1,250.00	\$1,250.00	\$5,000.00	\$5,000.
1040 Removal of RPMs		1	LS	\$5,700.00	\$5,700.00	\$1,000.00	\$1,000.
1041 Removal of Therr	noplastic Traffic Markings	1	LS	\$6,100.00	\$6,100.00	\$500.00	\$500.
1045 Removal of Traffi	c Signs	1	LS	\$500.00	\$500.00	\$1,000.00	\$1,000.
1055 Saw Cut Existing	Cement Concrete Pavement	700	LF	\$4.00	\$2,800.00	\$7.00	\$4,900.
1061 Contaminated So	il Ex.,Transportation & Disposal	100	TON	\$145.00	\$14,500.00	\$70.00	\$7,000.
1062 Soil Testing for C	ontamination	1	FA	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000
1065 Unsuitable Found	ation Excavation & Haul	500	CY	\$23.00	\$11,500.00	\$25.00	\$12,500.
1075 Gravel Borrow, Ir	nc. Haul and Compaction	1200	TON	\$16.00	\$19,200.00	\$20.00	\$24,000.
1105 HMA for Preleveli	ng Class 3/8", PG 64-22	800	TON	\$74.00	\$59,200.00	\$70.00	\$56,000.
1125 Cold Plant Mix for	Temporary Pavement Patch	500	TON	\$115.00	\$57,500.00	\$70.00	\$35,000.
1130 Remove and Relo	cate Existing Business Signs	1	LS	\$7,000.00	\$7,000.00	\$50,000.00	\$50,000.
1140 Cement Concrete	D/W, 8 inch Depth, Reinforced	1520	SY	\$75.00	\$114,000.00	\$50.00	\$76,000.
1145 Cement Concrete	Sidewalk	2740	SY	\$37.00	\$101,380.00	\$30.00	\$82,200.
1150 Cement Concrete	Sidewalk Ramp WSDOT Type 1	2	EA	\$1,150.00	\$2,300.00	\$660.00	\$1,320.
1155 Cement Concrete	Sidewalk w/Reinf. Raised Back	60	SY	\$68.00	\$4,080.00	\$50.00	\$3,000
1170 Cement Concrete	Sidewalk Ramp WSDOT Type 2	20	EA	\$1,200.00	\$24,000.00	\$1,275.00	\$25,500.
1175 Cement Conc. Sid	lewalk Ramp WSDOT Type 3A	1	EA	\$1,200.00	\$1,200.00	\$1,135.00	\$1,135.
1190 Cement Conc. Sic	lewalk Ramp WSDOT Type 4C	2	EA	\$1,250.00	\$2,500.00	\$900.00	\$1,800.
	lewalk Ramp WSDOT Type 4B	7	EA	\$1,200.00	\$8,400.00	\$850.00	\$5,950.
1200 Cement Conc. Sic	lewalk Ramp WSDOT Type 4A	7	EA	\$1,200.00	\$8,400.00	\$900.00	\$6,300.
1205 Cement Concrete	Curb and Gutter	5100	LF	\$27.00	\$137,700.00	\$15.00	\$76,500.
1206 Cement Concrete	Swale Gutter	165	LF	\$26.00	\$4,290.00	\$16.00	\$2,640.
1210 Cement Concrete	Extruded Curb, Type 6	250	LF	\$8.00	\$2,000.00	\$5.50	\$1,375.

CITY OF KEN				5			
84TH AVE. S.	IMPROVEMENTS (EAST VALLEY HIGHWAY)			Tri-State Construc	tion, Inc		
BID OPENIN	G: JUNE 30, 2009	BIDDER'	S	P.O. BOX 3686		Nick Horn	
		NAME AN	ID	Bellevue, Washing	ton 98009	Engineer	
		ADDRES	S				
		ALT A T	OTAL:		\$5,011,978.45		\$3,439,371.03
		ALT B T	OTAL:		\$5,232,340.95		\$3,600,000.03
ITEM					TOTAL		TOTA
NO.	DESCRIPTION QUANT	ITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
1215 Adiust E	Ex. Fire Vault to Finished Grade	1	EA	\$2,800.00	\$2,800.00	\$2,175.00	\$2,175.00
-	Ex. CB Grate or Curb Inlet Grate to Finished Grade	20	EA	\$325.00	\$6,500.00	\$280.00	\$5,600.0
=	Ex. MH Cover to Finished Grade	39	EA	\$325.00	\$12,675.00	\$300.00	\$11,700.0
-	Ex. Valve Box Top Section & Lid to Finished Grade	5	EA	\$165.00	\$825.00	\$275.00	\$1,375.0
=	Ex. Meter Box to Finished Grade	4	EA	\$100.00	\$400.00	\$290.00	\$1,160.0
1242 Adjust E	Ex. Junction Box to Finished Grade (S. 212th)	3	EA	\$150.00	\$450.00	\$500.00	\$1,500.0
1245 Adjust E	Ex. Monument, Case & Cover to Finished Grade	2	EA	\$600.00	\$1,200.00	\$460.00	\$920.0
1250 Adjust E	Ex. Oil/Water Separator Cover to Finished Grade	1	EA	\$400.00	\$400.00	\$750.00	\$750.C
1252 Adjust E	Ex. Monitoring Well Lid	5	EA	\$165.00	\$825.00	\$350.00	\$1,750.C
1255 Remove	Fence	135	LF	\$4.50	\$607.50	\$3.50	\$472.5
1260 Remove	and Relocate Fence	400	LF	\$12.50	\$5,000.00	\$20.00	\$8,000.0
1265 Remove	and Restore Fence	55	LF	\$17.00	\$935.00	\$20.00	\$1,100.0
1275 Install N	lew 4' Chain Link Fence, Including Gate	70	LF	\$26.00	\$1,820.00	\$17.00	\$1,190.0
1280 Install N	lew 6' Chain Link Fence, Including Gate	570	LF	\$25.00	\$14,250.00	\$25.00	\$14,250.0
1285 Mailbox	Support, Type 1	15	EA	\$200.00	\$3,000.00	\$250.00	\$3,750.0
1295 High Ear	rly Strength Cl. 3000 Concrete	40	CY	\$190.00	\$7,600.00	\$150.00	\$6,000.0
1300 Remove	and Relocate Private Light Poles	3	EA	\$1,400.00	\$4,200.00	\$300.00	\$900.0
1302 Gravity	Block Retaining Wall (Keystone or Approved =)	2280	SF	\$43.00	\$98,040.00	\$20.00	\$45,600.0
1305 Sound E	Barrier, 8' Height w/Foundation, Complete	155	LF	\$230.00	\$35,650.00	\$175.00	\$27,125.0
1310 Berm W	all, (Kelley Block or Approved Equal)	1330	SF	\$15.00	\$19,950.00	\$17.00	\$22,610.0
1315 Pothole	Utilities	50	EA	\$500.00	\$25,000.00	\$400.00	\$20,000.0
1320 Project :	Sign	2	EA	\$1,750.00	\$3,500.00	\$800.00	\$1,600.0
1330 Controll	ed Density Fill	150	CY	\$125.00	\$18,750.00	\$100.00	\$15,000.0
1335 Controll	ed Density Fill for Utility Encasement	100	CY	\$125.00	\$12,500.00	\$100.00	\$10,000.0
1355 Minor Cl	hanges	1	FA	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.0
TOTAL	SCHEDULE I - Street				\$1,500,242.50		\$929,332.9
Schodu	ile II - WATER						
	ection to Ex. 16" Conc. Cyclinder Water Main	3	EA	\$13,000.00	\$39,000.00	\$2,500.00	\$7,500.0
	ection to Ex. 16" Conc. Cyclinder Water Main	24	EA	\$8,500.00	\$204,000.00	\$2,000.00	\$48,000.0
	Dia. Ductile Iron, Cl 52 Water Main Pipe	204	LF	\$110.00	\$22,440.00	\$40.00	\$8,160.0
	Dia. Ductile Iron, Cl 52 Water Main Pipe	130	LF	\$155.00	\$20,150.00	\$60.00	\$7,800.0
	Ex. Valve Box Top Section and Lid	28	EA	\$200.00	\$5,600.00	\$400.00	\$11,200.0
-	Assembly	6	EA	\$6,250.00	\$37,500.00		\$24,000.C

CITY OF KENT			5			
84TH AVE. S. IMPROVEMENTS (EAST VALLEY HIGH			Tri-State Construc	tion, Inc		
BID OPENING: JUNE 30, 2009	BIDDER		P.O. BOX 3686		Nick Horn	
	NAME A	ND	Bellevue, Washing	iton 98009	Engineer	
	ADDRES					
	ALT A			\$5,011,978.45		\$3,439,371.03
	ALT B 1	TOTAL:		\$5,232,340.95		\$3,600,000.03
ITEM				TOTAL		TOTAL
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2005 (back Discostf Assembly		ГΛ	¢4.750.00	#10.000.00	¢0.050.00	#0.400.00
2085 6 inch Blowoff Assembly	4	EA	\$4,750.00	\$19,000.00	\$2,350.00	\$9,400.00
2105 Abandon Existing Water Service	3	EA	\$1,200.00	\$3,600.00	\$400.00	\$1,200.00
2115 Service Connection 1 Inch Diameter	24	EA	\$1,900.00	\$45,600.00	\$525.00	\$12,600.00
2125 Service Connection 2 Inch Diameter	2	EA	\$4,200.00	\$8,400.00	\$950.00	\$1,900.00
2145 Water Service Line 1 inch Diameter	1195	LF 	\$60.00	\$71,700.00	\$30.00	\$35,850.00
2150 Water Service Line 1-1/2 inch Diameter	70	LF	\$70.00	\$4,900.00	\$125.00	\$8,750.00
2245 Relocating Water Meter Assembly	2	EA	\$4,000.00	\$8,000.00	\$470.00	\$940.00
2255 Shoring or Extra Excavation Class B	1000	SF	\$1.00	\$1,000.00	\$1.25	\$1,250.00
2260 Foundation Material, Classs I and II for Water Mair		TON	\$40.00	\$1,000.00	\$17.00	\$425.00
2275 Pipe Zone Bedding for Water Main	20	TON	\$44.00	\$880.00	\$25.00	\$500.00
2280* Crushed Surfacing Top Course, 5/8 Inch Minus	20	TON	\$28.00	\$560.00	\$20.00	\$400.00
2285 Bank Run Gravel for Trench Backfill for Water Mair		TON	\$22.00	\$550.00	\$12.00	\$300.00
2295 Cold Plant Mix for Temporary Pavement Patch	30	TON	\$115.00	\$3,450.00	\$85.00	\$2,550.00
SUB TOTAL				\$497,330.00		\$182,725.00
9.5% wa State Sales Tax				\$47,246.35		\$17,358.88
TOTAL SCHEDULE II - Water				\$544,576.35		\$200,083.88
Schedule III - SEWER						
3005 PVC Sewer Pipe, 8 inch Diameter	360	LF	\$130.00	\$46,800.00	\$55.00	\$19,800.00
3035 Side Sewer Pipe, 6 inch Diameter	155	LF	\$180.00	\$27,900.00	\$40.00	\$6,200.00
3050 Manhole Under 12 Feet, Type 1 - 48 inch Dia.	3	EA	\$10,000.00	\$30,000.00	\$3,000.00	\$9,000.00
3060 Manhole 12 Feet to 20 Feet, Type 1 - 48 inch Dia.	1	EA	\$13,500.00	\$13,500.00	\$4,500.00	\$4,500.00
3085 Locking Manhole Frame and Cover	4	EA	\$550.00	\$2,200.00	\$400.00	\$1,600.00
3095 Sewer Drop Connection, 8 Inch Diameter	20	VF	\$575.00	\$11,500.00	\$615.00	\$12,300.00
3100 Sewer Cleanout - 6 Inch	7	EA	\$1,200.00	\$8,400.00	\$525.00	\$3,675.00
3110 Remove Ex. Sanitary Sewer Cleanout	1	EA	\$500.00	\$500.00	\$300.00	\$300.00
3115 Shoring or Extra Excavation, Class B	3000	SF	\$1.00	\$3,000.00	\$1.25	\$3,750.00
3120 Foundation Material, Class I and II	140	TON	\$40.00	\$5,600.00	\$17.00	\$2,380.00
3135 Pipe Zone Bedding	320	TON	\$44.00	\$14,080.00	\$25.00	\$8,000.00
3145 Bank Run Gravel for Trench Backfill	250	TON	\$22.00	\$5,500.00	\$15.00	\$3,750.00
SUB TOTAL				\$168,980.00		\$75,255.00
9.5% WA State Sales Tax				\$16,053.10		\$7,149.23
TOTAL SCHEDULE III - Sewer				\$185,033.10		\$82,404.23

CITY OF KENT			5		1	
84TH AVE. S. IMPROVEMENTS (EAST VALLEY HIGHWA	AY)		Tri-State Construct	ion, Inc		
BID OPENING: JUNE 30, 2009	BIDDER	'S	P.O. BOX 3686		Nick Horn	
	NAME A	ND	Bellevue, Washingt	on 98009	Engineer	
	ADDRES	SS				
	ALT A T	OTAL:		\$5,011,978.45		\$3,439,371.03
	ALT B T	OTAL:		\$5,232,340.95		\$3,600,000.03
ITEM				TOTAL		TOTAL
NO. DESCRIPTION C	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
Schedule IV - STORM						
4005 Storm Sewer Pipe, 6 Inch Diameter	6	LF	\$130.00	\$780.00	\$40.00	\$240.00
4010 Storm Sewer Pipe, 8 Inch Diameter	50	LF	\$85.00	\$4,250.00	\$48.00	\$2,400.00
4015 Storm Sewer Pipe, 12 Inch Diameter	820	LF	\$85.00	\$69,700.00	\$48.00	\$39,360.00
4075 Concrete Inlet	2	EA	\$850.00	\$1,700.00	\$500.00	\$1,000.00
4080 Catch Basin, Type 1	22	EA	\$1,150.00	\$25,300.00	\$900.00	\$19,800.00
4085 Storm Drain Catch Basin, Type 2 - 48 inch Diam.	6	EA	\$2,500.00	\$15,000.00	\$2,400.00	\$14,400.00
4090 Storm Drain Catch Basin, Type 2 - 54 inch Diam.	2	EA	\$4,100.00	\$8,200.00	\$2,950.00	\$5,900.00
4095 Oil-Water Separator Vault	1	EA	\$29,000.00	\$29,000.00	\$6,500.00	\$6,500.00
4100 Storm Drain Catch Basin - Type 2-96" w/Pumps & Te	elemetry 1	LS	\$310,000.00	\$310,000.00	\$75,000.00	\$75,000.00
4110 Solid Round Locking Catch Basin Frame and Cover	48	EA	\$525.00	\$25,200.00	\$300.00	\$14,400.00
4120 Vaned Catch Basin Frame and Grate	11	EA	\$400.00	\$4,400.00	\$425.00	\$4,675.00
4125 Thru-Curb Inlet Frame and Grate	17	EA	\$400.00	\$6,800.00	\$355.00	\$6,035.00
4130 Abandon Existing Storm Sewer Pipe	4	EA	\$325.00	\$1,300.00	\$300.00	\$1,200.00
4145 Remove Existing Catch Basin or Manhole	13	EA	\$600.00	\$7,800.00	\$325.00	\$4,225.00
4150 Shoring or Extra Excavation, Class B	500	SF	\$1.00	\$500.00	\$1.25	\$625.00
4155 Foundation Material, Class I and II	45	TON	\$40.00	\$1,800.00	\$17.00	\$765.00
4165 Quarry Spalls 4" - 8"	120	TON	\$40.00	\$4,800.00	\$30.00	\$3,600.00
4170 Pipe Zone Bedding	100	TON	\$44.00	\$4,400.00	\$25.00	\$2,500.00
4175* Crushed Surfacing Top Course, 5/8 inch Minus	180	TON	\$28.00	\$5,040.00	\$20.00	\$3,600.00
4180 Bank Run Gravel for Trench Backfill	220	TON	\$22.00	\$4,840.00	\$15.00	\$3,300.00
4185 Stormwater Pond Excavation Including Haul	3000	CY	\$19.00	\$57,000.00	\$7.00	\$21,000.00
4210 Thermoplastic Storm Drain Stenciling	55	EA	\$60.00	\$3,300.00	\$65.00	\$3,575.00
Total SCHEDULE IV - Storm				\$591,110.00		\$234,100.00
Schedule V - TRAFFIC						
5005 Traffic Control Labor	2080	HR	\$44.00	\$91,520.00	\$35.00	\$72,800.00
5010 Construction Signs Class A	192	SF	\$17.00	\$3,264.00	\$14.00	\$2,688.00
5015 Traffic Control Supervisor	1000	HR	\$70.00	\$70,000.00	\$40.00	\$40,000.00
5020 Temporary Traffic Control Devices	1	LS	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00
5030 Portable Changeable Message Sign (PCMS)	170	DAY	\$225.00	\$38,250.00	\$110.00	\$18,700.00
5035 Sequential Arrow Sign (SAS)	330	DAY	\$65.00	\$21,450.00	\$25.00	\$8,250.00
5040 Traffic Safety Drum	100	EA	\$90.00	\$9,000.00	\$85.00	\$8,500.00

СІТУ	OF KENT			5		[
84TH	I AVE. S. IMPROVEMENTS (EAST VALLEY HIGHW	/AY)		Tri-State Construc	tion, Inc		
	OPENING: JUNE 30, 2009	BIDDEI	R'S	P.O. BOX 3686		Nick Horn	
		NAME A	AND	Bellevue, Washing	ton 98009	Engineer	
		ADDRE	SS				
		ALT A	TOTAL:		\$5,011,978.45		\$3,439,371.03
		ALT B	TOTAL:		\$5,232,340.95		\$3,600,000.03
ITEM					TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
5075	Permanent Channelization	1	LS	\$21,000.00	\$21,000.00	\$20,000.00	\$20,000.00
5080	Temporary Paint Pavement Marking	1000	O LF	\$0.55	\$5,500.00	\$0.65	\$6,500.00
	Parking Lot Restriping	1100) LF	\$3.00	\$3,300.00	\$3.50	\$3,850.00
	Permanent Signing	1	LS	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00
	TOTAL SCHEDULE V - Traffic				\$276,284.00		\$194,288.00
	Schedule VI - ELECTRICAL						
6000	Traffic Signal at S. 216th Street	1	LS	\$155,000.00	\$155,000.00	\$120,000.00	\$120,000.00
	Traffic Signal at S. 220th Street	1	LS	\$85,000.00	\$85,000.00	\$130,000.00	\$130,000.00
	Traffic Signal at S. 224th Street	1	LS	\$180,000.00	\$180,000.00	\$125,000.00	\$125,000.00
6003	Trafffic Loop Replacement at S. 212th and SR 167	1	LS	\$33,000.00	\$33,000.00	\$15,000.00	\$15,000.00
	Illumination System	1	LS	\$175,000.00	\$175,000.00	\$150,000.00	\$150,000.00
6010	Shallow Illumination Base - If Needed	5	EA	\$375.00	\$1,875.00	\$1,350.00	\$6,750.00
6015	Joint Utility Trench Excavation 12 Inch Wide	760	LF	\$20.00	\$15,200.00	\$5.00	\$3,800.00
	Sand for Conduit Bedding	45	TONS	\$50.00	\$2,250.00	\$22.00	\$990.00
	TOTAL SCHEDULE VI - Electrical				\$647,325.00		\$551,540.00
	Schedule VII - TESCP						
7000	Seeding, Fertilizing, and Multching	0.5	AC	\$2,400.00	\$1,200.00	\$1,700.00	\$850.00
	Filter Fabric Fence	310		\$4.00	\$1,240.00	\$6.00	\$1,860.00
7010	10' Straw Wattles for Drainage Way Barrier	10	EA	\$105.00	\$1,050.00	\$65.00	\$650.00
7015	Inlet Protection	48	EA	\$75.00	\$3,600.00	\$65.00	\$3,120.00
7020	Straw Mulch	250	SY	\$3.00	\$750.00	\$4.00	\$1,000.00
7025	Clear Plastic Covering	2000) SY	\$2.00	\$4,000.00	\$2.25	\$4,500.00
7030	ESC Lead	330	DAY	\$1.00	\$330.00	\$100.00	\$33,000.00
7035	Street Cleaning	300	HR	\$115.00	\$34,500.00	\$100.00	\$30,000.00
7045	Sod Installation	100	SY	\$11.00	\$1,100.00	\$22.00	\$2,200.00
7050	Spill Prevention Control and Countermeasure Plan	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
7055	Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
7060	Stormwater Tanker Truck	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
7065	Baker Sand Filtration System	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
	TOTAL SCHEDULE VII - TESCP				\$92,770.00		\$121,180.00

СІТҮ	OF KENT				J 5			
84TH AVE. S. IMPROVEMENTS (EAST VALLEY HIGHWAY)					Tri-State Constructi	on, Inc		
BID OPENING: JUNE 30, 2009			BIDDER'S		P.O. BOX 3686		Nick Horn	
		NAN	ЛЕ AN	D	Bellevue, Washingto	on 98009	Engineer	
		ADD	DRESS	;				
			ALT A TOTAL:		\$5,011,978.45			\$3,439,371.03
		ALT	ГВТС	TAL:		\$5,232,340.95		\$3,600,000.03
ITEM						TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Schedule VIII - ROADSIDE RESTORATION							
8000	Street Tree Planting and Staking		24	EA	\$1,200.00	\$28,800.00	\$400.00	\$9,600.00
	Tree Planting and Staking for Property Restoration		17	EA	\$1,200.00	\$20,400.00	\$400.00	\$6,800.00
	Topsoil Type A	1	100	CY	\$41.00	\$4,100.00	\$55.00	\$5,500.00
	Existing Irrigation System Removal and Modif.		1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
8015	Bark or Wood Chip Mulch	1	100	CY	\$53.00	\$5,300.00	\$35.00	\$3,500.00
8020	5-Gallon Shrub Planting		15	EA	\$35.00	\$525.00	\$70.00	\$1,050.00
	TOTAL SCHEDULE VIII - Roadside Restoration	ı				\$64,125.00		\$31,450.00
	SCHEDULE IX - ERNIE'S FUEL STOP							
9000	Improvements Adjacent to Ernie's Fuel Stop		1	LS	\$125,000.00	\$125,000.00	\$50,000.00	\$50,000.00
	9.5% WA State Sales Tax				+ 1-2,22333	\$11,875.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$4,750.00
	TOTAL SCHEDULE IX - Ernie's Fuel Stop					\$136,875.00		\$54,750.00
	Schedule X - ALTERNATE A: ASPHALT ROADWA	ΔΥ						
1000	Mobilization		1	LS	\$10,000.00	\$10,000.00	\$72,817.00	\$72,817.00
	Remove Existing Asphalt Conc. Pavement	6	025	SY	\$5.50	\$33,137.50	\$7.00	\$42,175.00
	Saw Cut Ex. Asphalt Concrete Pavement		500	LF	\$4.00	\$30,000.00	\$5.50	\$41,250.00
1060	Roadway Excavation Including Haul	5	300	CY	\$20.00	\$106,000.00	\$15.00	\$79,500.00
1070	Geotextile Fabric, Tensar BX1200 Biaxial or Equal	8	000	SY	\$4.00	\$32,000.00	\$4.50	\$36,000.00
1075	Gravel Borrow, Including Haul & Compaction	3	400	TON	\$16.00	\$54,400.00	\$20.00	\$68,000.00
1080	* Crushed Surfacing Top Course, 5/8 inch Minus	1	500	TON	\$28.00	\$42,000.00	\$20.00	\$30,000.00
1085	* Crushed Surfacing Base Course, 1 1/4inch Minus	Ģ	900	TON	\$23.00	\$20,700.00	\$20.00	\$18,000.00
1095	HMA Class 3/4", PG 64-22	1	300	TON	\$110.00	\$143,000.00	\$80.00	\$104,000.00
1100	HMA Class 1/2", PG 64-22 for Full Width Overlay		800	TON	\$68.00	\$394,400.00	\$70.00	\$406,000.00
1110	Planing Bituminous Pavement	4	500	SY	\$8.00	\$36,000.00	\$5.00	\$22,500.00
1115	Fabric Reinforcement, Petromat or Equal	40	0000	SY	\$1.80	\$72,000.00	\$3.00	\$120,000.00
	Alternate A Sub Total					\$973,637.50		\$1,040,242.00
l							l	

CITY OF KENT							
)		Tri-State Construct	tion, Inc				
	S	P.O. BOX 3686		Nick Horn			
NAME AND ADDRESS		Bellevue, Washington 98009		Engineer			
ALT A T	OTAL:	\$5,011,978.45 \$5,232,340.95			\$3,439,371.03 \$3,600,000.03		
ALT B T	OTAL:						
			TOTAL		TOTAL		
ANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
V (Curb Lane)							
,		\$10,000,00	\$10,000,00	\$84 096 00	\$84,096.00		
		· ·		•	\$42,700.00		
		· ·		· ·	\$47,300.00		
		•		· ·	\$64,500.00		
		·		·	\$492,500.00		
		· ·		·	\$1,125.00		
		•		·	\$56,000.00		
70	TON	\$135.00		\$80.00	\$5,600.00		
4300	TON	\$68.00	\$292,400.00	\$70.00	\$301,000.00		
1200	SY	\$8.00	\$9,600.00	\$5.00	\$6,000.00		
29000	SY	\$1.80	\$52,200.00	\$3.00	\$87,000.00		
450	LF	\$30.00	\$13,500.00	\$29.00	\$13,050.00		
			\$1,194,000.00		\$1,200,871.00		
			\$1,500,242.50		\$929,332.93		
			\$544,576.35		\$200,083.88		
			\$185,033.10		\$82,404.23		
			\$591,110.00		\$234,100.00		
			\$276,284.00		\$194,288.00		
			\$647,325.00		\$551,540.00		
			\$92,770.00		\$121,180.00		
			\$64,125.00		\$31,450.00		
el			\$136,875.00		\$54,750.00		
			\$4,038,340.95		\$2,399,129.03		
			\$973,637.50		\$1,040,242.00		
ırb lane)			\$1,194,000.00		\$1,200,871.00		
	NAME AN ADDRESS ALT A TO ALT B TO ANTITY AY (Curb Lane) 1 6100 8600 4300 2500 250 2800 70 4300 1200 29000	BIDDER'S NAME AND ADDRESS ALT A TOTAL: ALT B TOTAL: ANTITY UNIT AY (Curb Lane) 1 EA 6100 SY 8600 LF 4300 CY 2500 CY 2500 SY 2800 TON 70 TON 4300 TON 1200 SY 29000 SY 450 LF	BIDDER'S NAME AND ADDRESS ALT A TOTAL: ALT B TOTAL: ANTITY UNIT UNIT UNIT PRICE AY (Curb Lane) 1 EA \$10,000.00 6100 SY \$5.50 8600 LF \$4.00 4300 CY \$20.00 2500 CY \$235.00 250 SY \$4.00 2800 TON \$23.00 70 TON \$135.00 4300 TON \$68.00 1200 SY \$8.00 29000 SY \$1.80 450 LF \$30.00	Tri-State Construction, Inc P.O. BOX 3686 NAME AND ADDRESS ALT A TOTAL: ALT B TOTAL: ANTITY UNIT TOTAL 1 EA \$10,000.00 \$10,000.00 6100 \$Y \$5.50 \$33,550.00 8600 LF \$4.00 \$34,400.00 2500 CY \$220.00 \$86,000.00 2500 CY \$235.00 \$587,500.00 2800 TON \$233.00 \$64,400.00 70 TON \$135.00 \$9,450.00 4300 TON \$135.00 \$9,450.00 4300 TON \$135.00 \$9,600.00 \$10,000.00 \$10,0	Tri-State Construction, Inc P.O. BOX 3686 NAME AND ADDRESS ALT A TOTAL: ALT B TOTAL: VY (Curb Lane) 1 EA \$10,000.00 \$10,000.00 \$84,096.00 6100 SY \$5.50 \$33,550.00 \$7.00 8600 LF \$4.00 \$34,400.00 \$15.00 2500 CY \$235.00 \$587,500.00 \$197.00 250 SY \$4.00 \$1,000.00 \$44.50 2800 TON \$23.00 \$64,400.00 \$20.00 70 TON \$135.00 \$9,450.00 \$80.00 29000 SY \$8.80 \$99,600.00 \$5.00 29000 SY \$1.80 \$52,200.00 \$3.00 450 LF \$30.00 \$1,194,000.00 \$270.00 \$270.00 \$30.00		